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* txz 2% | NS | EW | 29223 | NS | EW | #6 | #9 | #6 | #9 | #6 | #9 Mean NS EW
11 S |None 4HS5 450 4HS5 450 NS430 1 -1
12| W | NS 4HW5 450 4HE5 450 EW400 -2 2
13 | N |Both 4SS5 650 3NN3 600 50 2 NS510 4 -3
14 | E |None 4HEG6 480 5HES 450 30 1 EW450 -1
15| S NS 2SS-1 100 1NE-3 150 250 6 NS90 -5 -2
16 | W | EW 1NS2 120 3NS4 430 310 7 NS210 -3 -6
17 | N |None 2SN5 200 3NS3 400 200 5 NS240 -1 -4
18 | E NS 1NE2 120 1NW3 150 30 1 EW200 2 -2
19| S | EW 5DS5 400 4HN5 450 50 2 NS460 -2
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" 2smsmx | Ns | EW | 2525% | NS | EW | #3 | #7 | #3 | #7 |#3 | #7 || Mean | Ns | EW
11| S |None|  3HS4 170 3NN5 460 290 7 NS430 | -6 -
12| W | Ns 4HW4 420 4HW5 450 | 30 1 EW400 | -1 2
13 | N |Both| 4SS5 650 4NN4 630 20 1 NS510 | 4 -3
14 | E |None|  6HE-1 50 5HE6 480 | 530 1 EW450 | 11 1
15| S | Ns 2sS2 110 2sS2 110 NS90 | 1 -
16| W | EW| 1CW-1 100 1NS3 150 50 2 NS210 | -3 2
17 | N |None]  2SN5 200 4SN5 450 250 6 NS240 | -1 -5
18| E | NS 1NW3 150 1NE3 150 EW200 | 2 -2
19| s | EW 5DS7 440 4HN5 450 10 NS460 | -1
20 | W |Both|  4Hs4 620 4HN-1 100 | 720 12 NS70 | 11 5
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L tyzs% | NS | EW | £¢9z%% | NS | EW | #2 | #11 | #2 [#11| #2 [#11 || Mean | NS EW
11 | S |None 3NN6 490 3NN6 490 NS430 2 -2
12| W | NS 4HW-1 50 4HW4 420 || 470 10 EW400 10 1
13 | N |[Both 3NN4 630 3NS5 660 30 1 NS510 3 -4
14 | E |None 5HE5 450 4HE6 480 30 1 EW450 1
15| S | NS 1NN3 150 1NE-2 100 50 2 NS90 2
16 | W | EW 3NS4 430 1CW-3 300 130 4 NS210 6 -3
17 | N |None 2SN5 200 4SN4 420 220 6 NS240 -1 -5
18 | E | NS 1NW3 150 1NW4 180 30 1 EW200 2 -1
19| S | EW 2HN5 200 4HN6 480 280 7 NS460 -6 -1
20 | W |Both 3HN3 140 2NN4 180 40 1 NS70 2 -3
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11 S |None 4HS4 420 3NN5 460 40 1 NS430
12| W | NS 3NW4 430 4HW4 420 10 EW400 -1
13 | N |Both 4SS5 650 6HN-3 300 950 14 NS510 4
14 | E |None 4HES5 450 6DW-5 250 700 12 EW450
15| S NS 1NE-1 50 1NE-1 50 NS90 -1
16 | W | EW 3NN3 400 1CW-3 300 100 3 NS210 5
17 | N |None 4SN5 450 2SN5 200 250 6 NS240 5
18 | E NS 3NE3 400 1NW3 150 250 6 EW200 -5
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20 | W (Both 1NN-1 100 3NN-2 200 100 3 NS70 -5
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M Zxse% | NS | EW | 65253 | NS | EW | #4 | #14 | #4 |#14] #4 [#1a || Mean | Ns | EW
11| S |None]  4HS5 450 4HS5 450 NS430 | 1 -
12| W | NS 4HE5 450 4HWS5 450 EW400 | -2 2
13| N |Both| 4SS5 650 3NN4 630 20 1 NS510 | 4 -3
14 | E |None]  4HE6 480 6HE6 980 | 500 11 EW450 | -1 11
15| S | NS 1NE-2 100 NE-3 150 50 2 NS90 2
16| W | EW| 2SE-2 200 1NS2 120 80 2 NS210 3
17 | N |None]  2NS2 120 3SN5 200 80 2 NS240 | -3 1
18| E | NS 3NE4 430 1NW3 150 280 7 EW200 | -6 -2
19| S |EW| 4HN5 450 4SXW-3 | 800 350 8 NS460 -8
20 | W |Both|  4HS-2 200 4HS4 620 820 13 NS70 | -7 -1
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* txz 2% | NS | EW | 29223 | NS | EW | #1 | #12 | #1 [#12] #1 [#12]|] Mean NS EW
11 | S |None 4HS6 480 4HS5 450 30 1 NS430 2 -1
12 | W | NS 4HES 450 4HW5 450 EW400 -2 2
13 | N |Both 3NN3 600 4SS5 650 50 2 NS510 3 -4
14 | E |None 6HE6 980 5HW6 480 500 1 EW450 -11 1
15| S | NS 2SS2 110 1NN3 150 40 1 NS90 1 -2
16 | W | EW 1NS1 90 3NS-1 50 140 4 NS210 -3 6
17 | N |None 2SN5 200 3NS-3 150 350 8 NS240 -1 9
18 | E | NS 1NE3 150 1NW3 150 EW200 2 -2
19| S | EW 4HN5 450 4HNG6 480 30 1 NS460 -1
20 | W |Both 4HS-1 100 1NN-1 100 NS70 -5 5
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Y[ 2mz2s | NS | EW | 2925% | NS | EW | #5 | #13 | #5 |#13] #5 [#13 || Mean | Ns EW
11| S |None 4HS5 450 4HS5 450 NS430 1 -1
12 | W | NS 4HW5 450 4HES 450 EW400 -2 2
13 | N |Both 4HN-2 200 4SS5 650 850 13 NS510 -12 -4
14 | E |None 4SXN-3 500 4HEG6 480 20 1 EW450 -2 1
15| S | NS 2SS2 110 1NN3 150 40 1 NS90 1 -2
16 | W | EW 1CW-3 300 2NS3 150 150 4 NS210 3 2
17 | N |None 4SN5 450 2NS2 120 330 8 NS240 5 3
18 | E | NS 3NE3 400 1NW2 120 280 7 EW200 -5 -2
19| S | EW 4HN6 480 4HN5 450 30 1 NS460 1
20 | W |Both 4HS4 620 4HS-1 100 720 12 NS70 1 5
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" 2mzzs | NS | EW | 29z2% | NS | EW | #9 | #6 | #9 ] #6 | #9 | #6 || Mean | Ns | EW
11| s |None]  4HS5 450 4HS5 450 NS430 | 1 A
12| W | NS 4HE5 450 4HW5 450 EW400 | -2 2
13| N |Both|  3NN3 600 4SS5 650 50 2 NS510 | 3 -4
14 | E |None] 5HE5 450 4HE6 480 | 30 1 EWA450 1
15| s | NS 1NE-3 150 25S-1 100 | 250 6 NS90 | 2 5
16| W | EW 3NS4 430 1NS2 120 310 7 NS210 | 6 3
17 | N |None]  3NS3 400 2SN5 200 200 5 NS240 | 4 1
18| E | NS 1NW3 150 1NE2 120 30 1 EW200 | 2 -2
19| s |Ew 4HN5 450 5DS5 400 50 2 NS460 2
20 | W [Both|  4HS-1 100 2NN-2 200 | 100 3 NS70 | 5 7
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Y= H2%% | NS | EW | g¢x=223% | NS | EW | #7 | #3 | #7 [ #3 | #7]#3 || Mean | Ns EW
11 S |None 3NN5 460 3HS4 170 290 7 NS430 1 6
12| W | NS 4HW5 450 4HW4 420 30 1 EW400 -2 1
13 | N |Both 4NN4 630 4SS5 650 20 1 NS510 3 -4
14 | E |None 5HEG6 480 6HE-1 50 530 1 EW450 -1 -1
15| S NS 2SS2 110 2SS2 110 NS90 1 -1
16 | W | EW 1NS3 150 1CW-1 100 50 2 NS210 -2 3
17 | N |None 4SN5 450 2SN5 200 250 6 NS240 5 1
18 | E NS 1NE3 150 1NW3 150 EW200 2 -2
19| S | EW 4HN5 450 5DS7 440 10 NS460 1
20 | W (Both 4HN-1 100 4HS4 620 720 12 NS70 -5 -1
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" 25232 [ Ns [ EW | 25z2x | Ns | EW | #11 ] #2 [#11] #2 |#11] #2 || Mean | Ns | EW
11| S |None|  3NN6 490 3NN6 490 NS430 | 2 2
12| W | NS | 4HW4 420 4HW-1 50 470 10 EW400 | -1 -10
13| N |[Both| 3NS5 660 3NN4 630 30 1 NS510 | 4 3
14 | E |None|  4HE6 480 5HES5 450 30 1 EW450 | -1
15| s [ NS| INE2 | 100 1NN3 150 50 2 NS90 -2
16 | W [EW| 1cw-3 | 300 3NS4 430 130 4 NS210 | 3 -6
17 | N |None|  4SN4 420 2SN5 200 220 6 NS240 | 5 1
18| E | NS | 1NwW4 180 1NW3 150 30 1 EW200 [ 1 -2
19| s |[EW| 4HNe 480 2HN5 200 280 7 NS460 | 1 6
20 | W |Both|  2NN4 180 3HN3 140 40 1 NS70 | 3 -2
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* tyze% | NS | EW | 2¥z23% [ NS | EW | #10 | #8 [#10] #8 [#10] #8 || Mean | Ns EW
11 S |None 3NN5 460 4HS4 420 40 1 NS430 1
12| W | NS 4HW4 420 3NW4 430 10 EW400 -1 1
13 | N |Both 6HN-3 300 4SS5 650 950 14 NS510 -13 -4
14 | E |None 6DW-5 250 4HE5 450 700 12 EW450 12
15| S | NS 1NE-1 50 1NE-1 50 NS90 -1 1
16 | W | EW 1CW-3 300 3NN3 400 100 3 NS210 3 -5
17 | N |None 2SN5 200 4SN5 450 250 6 NS240 -1 -5
18| E | NS 1NW3 150 3NE3 400 250 6 EW200 2 5
19| S | EW 4HN6 480 4HN6 480 NS460 1 -1
20 | W (Both 3NN-2 200 1NN-1 100 100 3 NS70 -7 5
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[ 2mxg» [ Ns [EW | e5zsus | NS | EW | #14 | #4 |#14] #4 |#14] #4 || Mean | NS | EW
11| S |None|  4HS5 450 4HS5 450 NS430 | 1 -
12| W | NS 4HW5 450 4HE5 450 EW400 | -2 2
13| N |Both|  3NN4 630 4ss5 650 20 1 NS510 | 3 -4
14 | E |None|  6HE6 980 4HE6 480 500 1 EW450 | -11 1
15| S | NS 1NE-3 150 1NE-2 100 50 2 NS90 | 2
16 | W | EW 1NS2 120 2SE-2 200 80 2 NS210 | -3
17 | N |None|  3SN5 200 2NS2 120 80 2 NS240 | -1 3
18| E | NS 1NW3 150 3NE4 430 | 280 7 EW200 | 2 6
19| S | EW| 4SXW-3 | 800 4HN5 450 350 8 NS460 | 8
20 | W (Both|  4Hs4 620 4Hs-2 200 | 820 13 NS70 | 11 7
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Y[ 2nz2s [ NS [ EW | 2925% | NS | EW | #12 | #1 [#12] #1 |#m2] #1 || Mean | Ns EW
11| S |None| 4HS5 450 4HS6 480 30 1 NS430 | 1 2
12| W | Ns 4HW5 450 4HES5 450 EW400 | -2 2
13| N |Both| 4ss5 650 3NN3 600 50 2 NS510 | 4 3
14| E |None] 5HWE6 480 6HE6 980 | 500 1 EW450 | -1 1
15| s | NS 1NN3 150 2582 110 40 1 NS90 2 4
16| W | EW 3NS-1 50 1NS1 90 140 4 NS210 | -6 3
17 | N |None]  3Ns-3 150 2SN5 200 350 8 NS240 | -9 1
18| E | NS 1NW3 150 1NE3 150 EW200 | 2 2
19| s | EW 4HN6 480 4HN5 450 30 1 NS460 | 1
20 | W [Both|  1NN-1 100 4HS-1 100 NS70 | -5 5
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" 2mz2s | NS | EW | 2922% | NS | EW | #13 | #5 [#13] #5 [#13] #5 || Mean | Ns | EW
11| s |None]  4HS5 450 4HS5 450 NS430 | 1 A
12| W | NS 4HE5 450 4HW5 450 EW400 | -2 2
13| N |Both|  4ss5 650 4HN-2 200 | 850 13 NS510 | 4 12
14 | E |None]  4HE6 480 4SXN-3 500 | 20 1 EW450 | -1 2
15| s | NS 1NN3 150 25S2 110 40 1 NS90 | 2 A
16| W | EW 2NS3 150 1cwW-3 | 300 150 4 NS210 | -2 3
17 | N |None]  2NS2 120 4SN5 450 330 8 NS240 | -3 5
18| E | NS 1NW2 120 3NE3 400 | 280 7 EW200 | 2 5
19| s |Ew 4HN5 450 4HN6 480 30 1 NS460 A
20 | W [Both|  4HS-1 100 4HS4 620 720 12 NS70 | 5 11
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